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tame

aspect

rational
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obsess over
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01 s t escape SR oMLt
02 o o} money =0l CHat A2Hol| A= TSIt
03 change o time AlIZHO| XILHHA SIS
04 bei c of the housework TCUS MAX| 1 Ut
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(Ejl reveal rational preoccupied escape

01 Thereis no explanation for his actions. @
02 They went to the hills to the summer heat.

03 She wasn’t going to her secret unless she had to.

04 His mind was with solving the mystery of the crime.
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(WI complex metabolism income substitute

01 : the money that you earn from your work

02 : use or add in place of

03 : consisting of many different and connected parts

04 :the chemical process that occurs within a living organism in

order to maintain life
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01 You hate her as much as me.

02 The birds were not able to build, or even see traditional nests.

03 He has been and will be a hard worker.
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01 What is written in a book is not necessarily true.

02 |don’t completely agree with you.

03 I'm not quite satisfied with the result.
04 The quieter you become, the more you can hear.

05 The less you reveal, the more people can wonder.
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while talking.

(the less / the more vocabulary / you know, / likely you are to make gestures )
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People who eat

(for emotional reasons / not / are / necessarily / overweight )
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Symbiosis is

(where / a relationship between two animals / something good for the other /

each provides )
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® shortage — abundance ® income — outcome

® complex — simple @ reveal — hide

2 22 B0 5 %2?
@ in return: 22
@ over time: ZA| S0t
® as a general rule: ¥gtdoZ

@ substitute margarine for butter: HE LAl O 12IZ Mot

3 o =0t s %?
@ rational: based on clear thought and reason
@ illustrate: be proof or evidence of something
® consciously: in a deliberate and intentional way
@ preoccupy: inform someone in advance of a possible danger
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Seats in the front row are possibly but not certainly the best.

= Seats in the front row are not the best.

@ rarely ® nothing ® never @ necessarily
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5 Stella likes romantic comedies, and Jane likes musicals.
6 1am going to study Spanish in summer and | am going to study French in winter.
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(1/the less /understand / seem to)
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